
Quest ce que le cadeau  A' - ? ( )Quel nombre se trouve dans chaque cadeau?
5 × 4 = 3 × 8 = 6 × 2 =2 × 6 = 6 × 8 = 3 × 3 =3 × 7 = 8 × 5 = 7 × 3 =4 × 3 = 2 × 7 = 6 × 5 =4 × 2 = 3 × 5 = 2 × 2 =6 × = 24 5 × = 15 6 × = 423 × = 24 5 × = 35 8 × = 408 × = 40 8 × = 16 7 × = 497 × = 56 8 × = 16 5 × = 105 × = 30 7 × = 14 2 × = 4× 8 = 40 × 2 = 16 × 2 = 16× 8 = 16 × 6 = 30 × 6 = 18× 5 = 15 × 7 = 21 × 4 = 28× 8 = 48 × 5 = 20 × 6 = 12× 6 = 36 × 2 = 6 × 6 = 30
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Quest ce que le cadeau  A  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
5 × 4 = 20 3 × 8 = 24 6 × 2 = 122 × 6 = 12 6 × 8 = 48 3 × 3 = 93 × 7 = 21 8 × 5 = 40 7 × 3 = 214 × 3 = 12 2 × 7 = 14 6 × 5 = 304 × 2 = 8 3 × 5 = 15 2 × 2 = 46 × 4 = 24 5 × 3 = 15 6 × 7 = 423 × 8 = 24 5 × 7 = 35 8 × 5 = 408 × 5 = 40 8 × 2 = 16 7 × 7 = 497 × 8 = 56 8 × 2 = 16 5 × 2 = 105 × 6 = 30 7 × 2 = 14 2 × 2 = 45 × 8 = 40 8 × 2 = 16 8 × 2 = 162 × 8 = 16 5 × 6 = 30 3 × 6 = 183 × 5 = 15 3 × 7 = 21 7 × 4 = 286 × 8 = 48 4 × 5 = 20 2 × 6 = 126 × 6 = 36 3 × 2 = 6 5 × 6 = 30
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